AT TB-1FRIREIER
?

g%
AL

C,—“

TYPE-C

Tﬁ A FEL Mo-14 X4

S B BHER o0 X

AP TB-1FRIRRIEE

BRI

BOARERRAE |2

BRFN A
OF '} 23
T E6-14

REFRAH
EfL

@ KTFR

ZR5EE
i RURTHRA X Jii
(O 0 O)
S
BAAM | T w0
WELA
KERT
# 11 20mm
oo
OO0

ot
KEAT g

i 7] Simagic.com T# & ¥ Wzh, RHE LA UHA



MF TB-1Handbrake Quick Guide

?

@ Remove the front plate

Rubber Replacement

First, remove
the washer and

o b

Next, install the
desired rubber
bushing to adjust
the resistance of
the Handbrake

Note:
Make sure the power is OFF

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
during the replacement I
|
|
|

C,_“

A . Button Head Socket Cap Screw M6—14 X4

@ =b

B . Roll in T-Nut with Ball Spring M6—40 X4

¥ TB-1Handbrake Quick Guide

Adjust the lever

Fine-tune the
angle of the lever

Switching lever position

@ Flip the lever

Remove the M6-14
bolts, flip the position
of the lever, then
re-insert the bolts
and tighten.

Mount and Install

* Note: Bottom View
The L-shaped mounting plate
can be purchased separately *

M6 Bolts only
(Maximum
length is 20mm)

The handbrake can
be mounted using
M6-14 bolts

M6 Bolts only (Maximum
length is 20mm)

Download the latest Driver and know more about the product at Simagic.com



